ZA\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - XXX 1D XXXX- 6'8 & 8'0 BBG FG Imp FJ Jambs (TX 5218-5223)\C - Drawings\TX-5218-5220.dwg

THERMARTRU

DOORS
Fiber-Classic. & Smooth-Star.

WOOD EDGE
GLAZED FIBERGLASS SINGLE DOOR

w/ SIDELITE(S) w/ BLINDS BETWEEN GLASS

INSWING /OUTSWING
"IMPACT" |

EVALUATED FOR USE IN THE STATE OF TEXAS

The Fiberglass Door system described herein complies with the 2018 Infernational
Residential Code (IRC), Sections R301 & R409 and the 2018 International Building Code
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject fo the following conditions:

1.

2.

oA

Anchors shall be as listed and spaced as shown in the details. Anchor embedment
to base material shall be beyond wall dressing or stucco.

This system has been tested and evaluated as a large missile impact protective
system for installation in areas that require wind borne debris protection. This
product meets missile level "D" as defined in ASTM E 1996.

Allowable design pressure requirements must be equal to or less than the design
pressure rating shown in the design pressure chart, sheet 1 of this drawing.
Conditions not covered by this drawing are subject to further engineering analysis.
Fiber-Classic and Smooth-Star Door & Sidelite panels require the use of “J" part
numbers. These door panels must be stained or painted within six months of
installation.

TABLE OF CONTENTS

SHEET # | DESCRIPTION

Typical Elevations, Design Pressures & General Nofes
Door Panel Details

Sidelite Panel Details

Elevations

Horizontal & Vertical Cross Sections
Vertical Cross Sections

Frame Anchoring

Hardware Details

Lite Frame & Glazing Details

Bill of Materials & Componenis

SojmNjos o o]~

2221

«¥ial gyl

Myaadans™

.\,x"u'\;\-\\}\lh

ik :
NS

104123
o, .é{Q'E.N‘%g:‘Q,..

.
TR P ST
“sd :,.- Q oy

)

{
2,
)

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.8197

X0 ) ox
112.75" MAX O.A. FRAME WIDTH
375 MAX. __, _ 3775'MAX __
FRAME WIDTH r FRAME WIDTH
g 2 — |
.2 o8
SZ =0
25 =6 0, X O
20 J¥
) W © g
7 / 7
Lo
DESIGN PRESSURE (PSF) DESIGN PRESSURE (PSF)
CONFIGURATION INSWING QUTSWING
POSITIVE NEGATIVE POSITIVE NEGATIVE
XO, OX, OXO +45.0 -50.0 +45.0 -45.0

P.0. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F-11852

)
L
=
2
- o -
S =
5 .
) =W
= o=
lin Joq =
4 W B IS
23 |2 o
=0
Wwe & o
T 73 w
F—'E-]l 0 gkl
oo |35
b o QU)
3 S| &0
(o} f— tl'u
o x| &
x < o
o o
>_
o
)
b
o
%]
o
L)
<
o
o
=z
DATE: 7/21/21
scale:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
TX-5219

SHEET _ 1 oF 10

© 2021 R.W. BUILDING CONSULTANTS INC.




ZA\Clients\Therma Tru PERMANENT\B - Texas Dept of ins\TD! - XXX [D XXXX- 6'8 & 8'0 BBG FG Imp FJ Jambs (TX 5218-5223\\C - Drawings\TX-5218-5220.dwg

o 2.38" 1.2 =
" . _@ﬁﬁ EXTERIOR
Tamn U Vo N s | T 8
. ER O =T I
™ S E’ ‘i i
G 1B E N
f JUNNS 2
/ ] D INTERIOR
LOCK BLOCK
HINGE STILE
ENGINEERED WOOD) @HORIZONTAL CROSSSECTION ~ 12.5'LONG (WOOD) i woon)
2
L e I==n EXTERIOR THE:EE 2.38" | —— 117
= | s
E B & o ~ ‘ : ]
T T :
| : J;l
/ ] D INTERIOR [j
LOCK BLOCK
(ENGm:EGREE [S)T&JEO oo, @HORIZONTAL CROSS SECTION 12.5" LONG (WOOD) (ELT?éC}\;{V gg% |
5 .
36" MAX. DOOR 35.81" MAX. DOOR ____ 35.81" MAX. DOOR
PANEL WIDTH PANEL WIDTH PANEL WIDTH
E 2 ; E 2 ; E 2 }
10 = 2 |E 2\
2/ e Y |20/ === ¥ |\&/ ~
= = £
O O O]
o o o = in
z oo o =z fatd
£ gy = R i
o e o o e
g X ~ 8 X 8 X B
A ® A A ®
2 bz b2 ?
= = =
~ / ~ / ~ /
/,// 4// ///
/ / /
4 4 4
40\ FIBERGLASS DOOR PANEL 27 FIBERGLASS DOOR PANEL 47 FIBERGLASS DOOR PANEL

BOOK DOOR - WOOD EDGE

FIBERGLASS SKIN: 0.073" MIN. THK.
FOAM CORE: POLYURETHANE -1.9 PCF MIN.

HYBRID DOOR - WOOD EDGE

U1 DOOR - WOOD EDGE

TOP RAIL
(COMPOSITE)
s 23
FOAM CORE || °
\. : = .
A\Y
Wil
INTERIOR )) EXTERIOR
e =
I/4
FIBERGLASS SKIN "
s ' ",I,.‘ R J:;
(]
BOTIOM RAIL—" [[-
(COMP.)
-~ 17—

/3 \ VERTICAL CROSS SECTION

\2/

\2/

SR l“é
i T e g
Soeniblosty [ |g3
Sax g% | SEs 8 U8
;fﬁl . '*.%c} NEREY g:
oy Q10 Guwdl " 2P 21
fui PN Gog) aful Tk U
pol vz Z M n|sd €5E o
0, iZi- 978 TW 289 68
oz, 191 FeZ' |55 558 o8
R I
TOP RAIL Wy xix § ?ﬂjz;&\) gR® g@
(COMPOSITE) Tadee g SNy o
3zl oy
o 9. 4°
P 3°d ER
] o« 93
2 § E
| 8
i
&3 8
FOAM CORE || ©
\ ,‘ B
~ )
=
x <L
58 &
2 s
- PP |
D E@ B
ﬂ FE (2 «
., o <8
e D 5l = g S
LT3 2 ©
£ 5
CwiRL >
INTERIOR )‘ EXTERIOR
& AT
2
| 5
. >
FIBERGLASS SKIN .
: =
3 S
- o
H =
BOTIOM RAIL—" |[* o 721,21
(COMP. ScAE: N.T.S.
~—1.7" == DWe. BY:  RW
CHK. BY: LFS
/~4 "\ VERTICAL CROSS SECTION DRAWNG O
TX—5219

SHEET _2 oF 10

© 2021 R.wW. BUuILDING CONSULTANTS INC.



I uj
Sy oy
g % u‘s o] ’E &.9 *;; %]
A S £, B
. 238" e 1.2 ] FANEE S Js* 8 22
12 = EXTERIOR B 2 N7 i5iQ N EEECE RN
I’_’j E}] sH fw iy s do M
? U | R A 2y izio & Q 8§ % oo 2o
. S e . PN ,_ o "‘ % %‘zj‘\;‘. 38;‘: \}:‘ l\' g‘l—' 5'3% %8
: S ; ERRREEE I o, 15D 59
T O T 1 TOP RAIL Qz?z 115 Fgel T Bz i
| |1 R [ g (COMPOSITE) LN 5 8% g
wn il INTERIOR (&S 3 287 b
24 4 . &
HINGE STILE ok Ok | LATCHSILE ¢ 592 Bp
(ENGINEERED WOOD) : ( ] (ENG. wOOD) & § 38
5 gﬁ
1"\ HORIZONTAL CROSS SECTION 5 E K8
3 0
N/ FOAM CORE || < 8
~J
%
=
&
36" MAX. N 28 z
PANEL WIDTH —N— ES -
=k 19 =
1o} [7;3
= :] I R v
}-.
) ol ~ |% &
N — — 2 e
\\ L.
INTERIOR )) EXTERIOR &
. T
xI
3 @
)
xI
z O 2= 2
. 2
< I 1 :
R FIBERGLASS SKIN
/
a
/ -
n
Ll
: PN d
4 BOTIOM RAIL—" ([ [ﬁ =
50 ) FIBERGLASS SIDELITE PANEL (COMP.) DATE: 7/21/21
WOOD EDGE 17 ] sAE  N.T.S.
DWG. BY: RW
{2\ VERTICAL CROSS SECTION o B __LFS
3 .
FIBERGLASS SKIN: 0.073" MIN. THK. 3/ TX=5219
FOAM CORE: POLYURETHANE -1.9 PCF MIN. SsHEET 3 oF 10

Z\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - XXX D XXXX- 6'8 & 8'0 BBG FG Imp FJ Jambs (TX 5218-5223)\C - Drawings\TX-5218-5220.dwg

© zo21 R.w. BuiLbing CoNnsuLTANTS INC.



TON| SLINVATIMNSNGD aNiaiing "M'y L2202 @

ZS8Ll—d # NOUVMISIORM 40 IAVOIALNIO SNOISIAJY o ToN
SYFANIONT TYNOISSIA0Nd 40 QuvVOE SVXEL SNOILYATT3 Ag w slzlo] o m_
LBLE'6G9'CLE TON BuOyd : iS5 Tl e
§6SES "14 OOWIDA O£Z Xo8 '0'd \N\h@ SAMNASSY d0 lavd ~ M g Q| °
"ONI ‘SINVLINSNOO ONIGHNE /7/ Lo 4_
400Q SSY19¥34l4 lElg 2
SZLPOL# "T'd Svxdal NYL-YWHIHL i w 6l W &
Fd WPIIYDS 4 uopuky Ag peupndeld sjuswinsog 11onaodd 28 ES 515 5
- 3
&
b 88
oF oL
a9
jri o iy
< av £S5
@) =3
0 e 53[0
D] . m | N v
0| o] O
8848
O «]O M
E €8|g€a
@ =
\ Elw
/% Wi~ = o e .nm
< O o R M S
z s =|O 5 Mnu F
X 2 < o) =I5 zZl @ >
20 4 i
hvd v
mw
v TETLRY i
mw
© S
b
= /M,/
) —
@ r”l/ G
= | Z
e I
D =l
= CXTIXY it CETIEN "TIRTE n < E
¢ > =
i w Lo
™. o W mw g
O 0 W
£ 2 |
> JoTRO) |
R
o <
~ W e
) (234
@ 2
<
N * O
s )
[P
v | =z
o
1 = m
>
Qp® i
/J Ll
/E
{s74
o
o
< &%
< XI
0
LL)
>
mw

Bmp 0zzs-8Les-X \sBuimelq - D\(€225-8125 XL) squer (4 dw| 94 998 0.8 18 8.9 -XXXX QI XXX - 1aL\su} 4o 1daq sexs] - E\LNINVINYId NiL BULBY\SIUSID\Z



Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - XXX D XXXX- 6'8 & 8'0 BBG FG Imp FJ Jambs (TX 5218-5223\C - Drawings\TX-5218-5220.dwg

0.15" C-SINK

”} = ()

DRYWALL‘\\

L

®

N g A

=0

I/

1

SHEATHING

@)

29

m HORIZONTAL CROSS SECTION

\5_/ Outswing shown {Inswing similar)

/® SEE NOTE |

INTERIOR

EXTERIOR

(0442

Notes:

1. Sidelite assembly screws located 6" from each end and 5 more screws
equally spaced between {7 screws total per side jomb).
2. Sidelite assembly screws located 3" from each end and @ centerline

{3 screws along head jamb).

ends & 10"

3. PVC/Wood Moulding secured w/ 16 GA. X 1" brad nails located 1" from p
a1

DRYWALL

SEENOTE 1 /

A\ Y

—

e g g My e Mg g e R g

Xk{
> g

EXT.
SHEATHING

m HORIZONTAL CROSS SECTION

\S_J Outswing shown (Inswing similar)

Y

0.C. Max.

EXT.
SHEATHING

OO0

EXTERIOR

ui
P ,k«k P i ;T
p ‘,Q %d‘ [}
S 2 g8, B
SA%e I= Ex 2
22U i S .8z
AN TS By B &
AT i 2 £ o5
4 L. g H L o
501 PN jw 2 ft5 ¢
T _[Bw iz 3% 280 3
1 |%%. S ik oEig g
g }ze\(’ ».‘.“gz E a > E Q
Q¥ i ¥ Zon &
. Izh Hadt] 5 8@. 4
L 1\\\1\\’\:\' m o x 2 0.
O ° [
Sl 4 % me O
o 2 4.5 o
o 3 509¢ E
\ r oan g
|\~ DRYWALL 2 §
L -4
: 3
Ca o
’ : 8

INTERIOR

A\

/"3 VERTICAL CROSS SECTION

w Outswing shown (Inswing simitar)

0 P 0

INTERIOR

\#

.

SHEATHING

000

EXTERIOR

m HORIZONTAL CROSS SECTION

\5_/ Outswing shown {Inswing similar)

N
\\

Jd/

SEE NOTE 3
(TYP)

7“7 "\ HORIZONTAL CROSS SECTION

7 7
INTERIOR

a
~g ~

40 1 41 (42

2 EXTERIOR

SEENOITE 1

P
~

s

20

m HORIZONTAL CROSS SECTION

\5_/ Outswing shown {Inswing similar)

w Outswing shown {Inswing similar)

CERTIFICATE OF REGISTRATION # F-11852

EXT.
SHEATHING

®\~u

@ X

SEENOTE 2

EXTERIOR

INTERIOR

A\

/ 4\ VERTICAL CROSS SECTION

\5/ Outswing shown (Inswing similar)

o ‘L DRYWALL

g
Qm
o —
o8 Wit
= >
T B
=3 {3 Lo
m . |
£S5 20
L'JQ) i ZU)
oz |0 §Q
o ol Qo
L, B I =20
5l = gl S
2 o T
S &
& X
S
mn
)
=z
o
]
ol
W
B
<
o
o
=z
DATE: 7/21/21
scae:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
TX—5219

sHeer _ 5 of 10

© 2021 R.W. BUILDING CONSULTANTS INC.



Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - XXX 1D XXXX- 6'8 & 8'0 BBG FG Imp F} Jambs (TX 5218-5223\C - Drawings\TX-5218-5220.dwg

Notes:

1. Sill lem #32 is attached to jombs w/ {3) #8 X 2-1/2" pfh screws at each end.
Sill Item #33 is attached to jambs w/ (2) #8 X 2-1/2" pfh screws af each end.
Silt tem #34 is attached fo jambs utilizing (2) #10 X 2" pph SMS af each end.

EXTERIOR

INTERIOR /“,(

@@ o

SEE NOTE 1
K ) WOOD
D ) CONCRETE
71"\ VERTICAL CROSS SECTION
\U Inswing Sill
A\
EXTERIOR INTERIOR

/‘

000 f> 3

'.n ":3“ \\\\

4.'.
......

”//////////
v

SEENOTE 1

I/’I/lh /

}

o WOOD

Q CONCRETE
/" 2"\ VERTICAL CROSS SECTION

w Outswing Sill

EXTERIOR

(4@

SEENOTE 1

\\

2. Sidelite assembly screws located 3" from each end and @ centerline
{3 screws dlong sill).

INTERIOR

INTERIOR

CONCRETE
/"5 "\ VERTICAL CROSS SECTION

\U Outswing Sill

\\

EXTERIOR
SEENOTE 2

™
\ 4t 32
\
!

K ) wooD

D ) CONCREIE
7“3\ VERTICAL CROSS SECTION

\U Inswing Sill

=

EXTERIOR

SEE NOTE 2 @\ (33)

ii*,.:-:"—\ \k\\\

INTERIOR

\

\ 55NNV AARN

/ 4"\ VERTICAL CROSS SECTION

W Outswing Sill

ui
QR
£ 0
kel
£ 0 §$
£* 8 27
AN
0 = .
ul ~E'g b
s 2.5 2
8 zZ 08y 22
ek g:28 08
2 Jge Bk
7> g%
. &8% 6@
5 8% Eg
o x2 %
® z 3 ol
[ LY
2 255 2.
o 50¢ %,‘*_’
o moo 86
-
: 8
: 58
o [
]
=1
o )
-9 Y
B xw
el 88
. ')
< =] 4=
=2 I3
=5 |3 32
Weo ol =0
I |8k
g |9 9
= W |y
O
3 o
) E
& &
>_
m
v
b
o
%}
v
i
<
Ia)
o
Z
DATE: 7/21/21
scate:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
TX—5219

SHEET _6 oF 10

© 2021 R.W. BUILDING CONSULTANTS INEC,



TONE SINVLTINSNOD ONICTHNE "M'd L 202 @

2S8LL—4 # NOLVAISIORM 40 ILVOLILLNID SNOISIAJY i
SHIINIONZ TVNOISSIIO¥d 40 Q¥voE SVX3L ONINOHONY TWVMA A8 divd [ON Slulzlol o m_
. . ) Ll 2
elct=i \wﬂmommwo\m Panoqu :.n%.u_ g@ ‘ATEWISSY dO Lavd W W == - MM 5
“ONI ‘SINVLINSNOD ONiging N . g | 7_
4000 SSY19434l4 NOTE | Ele &
SZLYOL# “T'd SvX3L NYL—YWEIHL i m 6l vl &
‘F'd PIUYDS 4 uopuk g pedodesd sjuewinsog :10naoyd 21 g W 5 W E
3
= (dAl) 0’0
= . * |
mﬂ ﬁ = ldal9 H _ XYW 7L
ﬂ;in — | | | 1 l | —
z
o
a
ol _
3 Al
ol @ . N § I
=t
>
m = |, &= I J [~ H
(€5 - 0
femmnt 58] Smmad u4
— 0
o ﬁ a § @)
=g g 8 3 = >
® £ = T 0 ¢
SOEN I
>
— 1 i I
— | | | —
(723 (=
s
0.
5E =
&
H 3
— _ . _ I = g
/ <
Lo =
0.
it 3
oL
L.
o w
= So
% . (- L ldAdl oo 2
ﬁ ] jl:é 9 _ F XYW 71 F/
=l | ! | | | -
f w
o
o)
§ 2 =
= 0 £
(X2 2
< « | — I 1\ I <
e ﬂlﬁl!‘ | . l Q
B T >
iy o 7]
z | 2 E T
Ex .
=, - o
* o E =
o %
T
— I I | i I

Bmp'0zzs-8Lzs-X\sBuimelq - D\(£z25-8125 XL) squier (4 dwj 54 988 0.8 1 8.9 -XXXX Al XXX - IGL\su} JO 1dag sexa - A\LNINVINYId ML BULBYINSIUSYDNZ



CON| SANVLIINSNGT aNIiaing ‘'Mm°y L Z202 @

ZSeLl—d4 # NOUWMISIONN 40 ILVOLILNID SNOISIAZY
SHIINIONT TYNOISSHA0Nd 40 QuvOs SvXal SUVLIA THYMONVH A8 J1vd TON|~ =ln] o 0_
Nl ke -
LBLE'6GY'CLE ION suoyd : Nl =
GESEE 4 OOHIBA OSZ Xo8 O'd \S\mﬁ K1GN3SSY 90 Lavd S5 NS
"ONI “SINVLINSNOD ONIING N REREN 8_
¥00a SSY1943gld N OB Elg &
€ZTLYOL# "I'd Svyxal NAL—VNHIHL i olylE e
Al IPIUIYDS 4 uopuf] Ag peJodeid sjueswinsog 12Na0Hd M W mm W m

O,

<

TR =

.
«

&)

;.,__a\

HINGE DETAIL
Outswing

@
[~ [je—y
I\

GWVT 40 YOO AEAH/ LN

dOL WO¥4 STl LL ('dAL) .S2°62
WVl 40 JOOa Y0049

dOLWO¥4 ST 1L ('dAL) ST 6T

HINGE JAMB
A\
%
h\
\
HINGE DETAIL
Inswing

SEE HINGE DETAIL
(TYP.)
1@
Q=F

~—(.§'L ) .88'7¥
:m.w ]

| {

:

STRIKE JAMB
Latch and Deadbolt

DETAIL

SEE LATCH /\

& DEADBOLT

Security Sub
Strike Plate

LATCH & DEADBOLT DETAIL
Kwikset

LATCH & DEADBOLT DETAIL
Schloge
LATCH & DEADBOLT STRIKE DETAILS

Bmp0zes-8Lzs-XL\sBumel - D\(€2z5-8125 XL) squier (4 dwj 94 988 0.8 1 8.9 -XXXX QI XXX - IaL\su] 40 3deq sexay - d\LNINVINYId NiL BUWIBYI\SIUNDNZ



Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TD! - XXX ID XXXX- 6'8 & 8'0 BBG FG Imp FJ Jambs (TX 5218-5223\C - Drawings\TX-5218-5220.dwg

20.94'D.L.O.
WIDTH

4..
(TYP.)

63" D.L.O. HEIGHT

#10 X 2" PPH SMS

/ (TYP.)

11.4'0.C.
(TYP.)

6"-8" LITE FRAME

ALUM. (6063-T5)

DOW 995 GLAZING

NORSEAL CLOSED CELL
. PYC FOAM

EXTERIOR

COMPOUND

1/2" GLASS BITE
— 1-1/4" O.A. THICK GLASS

1/8" ANNEALED GLASS

A\

.~ 0.090" SAFLEX PVB INTERLAYER
' 1/8" ANNEALED GLASS

INTERIOR

‘i— AR SPACE
1/8" TEMPERED GLASS
FOAM SPACER

w/ ALUM INSERT

NORSEAL CLOSED
CELL PVC FOAM

#10 X 2" PPH SMS

G1 GLAZING DETAIL

1-1/4" Insulated Laminated Glass
w/ Internal Blinds

T

]«- 1.75" ~»1
—-»I 1.25" l——

@ ALUMINUM IMPACT LITE FRAME

.,
»

Mi

vreassneasne

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Vairico FL. 33595
Phone No.: 813.658.9197

BUILDING CONSULTANTS, INC.
TEXAS BOARD OF PROFESSIONAL ENGINEERS

Documents Prepared By

CERTIFICATE OF REGISTRATION # F—11852

]
m —
<
o wis
o)
Pﬁim 24
0 ¥ Eo
22 19wt
Lo |5 53
=& 14 "o
., o =
R P
3 o
S E
& P
>_.
i3]
v
v
=
2]
o
o
Ll
<
S
o
Z
oATE: 7/21/21
SCALE:  N.T.S.
DWG. 8Y: RW
CHK. BY: LFS
DRAWING NO.:
TX—5219

SHEET _ 9 oF 10

© 2021 R.W. BuiLoine CONSULTANTS INC.



Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TD] - XXX D XXXX- 6'8 & 8'0 BBG FG imp FJ Jambs (TX 5218-5223)\C - Drawings\TX-5218-5220.dwg

BILL OF MATERIALS

TEM # | DESCRIPTION MATERIAL
A 2X FRAMING (SG >=0.42) WOOD
C 1/4" MAX. SHIM SPACE -
D 1/4" X 2-3/4" PFH DeWALT OR ITW CONCRETE SCREW (1-3/4" MIN. EMBEDMENT) STEEL
F #10 X 2" PFH WOOD SCREW STEEL
K #10 PFH WOOD SCREW (1-3/4" MIN. EMBEDMENT) STEEL
L #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMBEDMENT]) STEEL
] FINGER JOINT PINE JAMB COMP
7 WEATHERSTRIP FOAM
8 DOOR SWEEP VINYL
9 SWEEP (USE w/ PUBLIC ACCESS THRESHOLD) VINYL
20 #8 X 2-1/2" PFH WOOD SCREW STEEL
21 #12 X 1-1/2" PFH WOOD SCREW STEEL
22 #8 X 3/4" PFH WOOD SCREW STEEL
23 #9 X 3/4" PFH WOOD SCREW STEEL
24 #9 X 1" PFH WOOD SCREW STEEL
25 #9 X 2-1/2" PFH WOOD SCREW STEEL
26 #8 X 5/8" PFH WOOD SCREW STEEL
27 LATCH STRIKE PLATE STEEL
28 DEADBOLT STRIKE PLATE STEEL

28A | DEADBOLT SUB-STRIKE PLATE STEEL
29 4" X 4"HINGE STEEL
32 INSWING THRESHOLD ALUM/COMP
33 OUTSWING THRESHOLD ALUM/COMP
34 PUBLIC ACCESS THRESHOLD ALUM
35 SIDELITE SPACER (INSWING) VINYL
36 SIDELITE SPACER (OUTSWING) VINYL
40 DOOR PANEL (BOOK) -
41 DOOR PANEL (HYBRID) -
42 DOOR PANEL (U1) -
50 SIDELITE PANEL -

0.75"

1.25"

i 4.56" '

r ].5" i

4.56"

| \
22—

@ FINGER JOINT PINE JAMB

72¢.2,

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

32 INSWING THRESHOLD
Adjustable Composite Sill

33 OUTSWING THRESHOLD
Composite Sill

6"

0.082"

i 2 1 8" i ¢ |

N

5

@ PUBLIC ACCESS THRESHOLD

TN

}—F— 179" —]
3 . SWEEP

SRR

l 2.06" :
( : ) SWEEP
CONCRETE ANCHOR NOTES:

1. Concrete anchor locations af the comers may be adjusted to maintain the min.
edge distance to mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

W -
1apcon®| 174

1-1/4" 7 &
DeWALT N . . ]
lurracons] 14 1-1/4 1 4

WOOD SCREW INSTALLATION NOTES:
1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws to prevent the splitting of wood.

P.O. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.: 813.659.9197

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—-11852

THERMA—-TRU
FIBERGLASS DOOR

PART OR ASSEMBLY:

PRODUCT:

BILL OF MATERIALS
& COMPONENTS

REVISIONS

NOJ DATE

oATE: 7/21/21

scAlE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
TX-5219

sHeer 10 oF 10

© 2021 R.W. BUILDING CONSULTANTS INC.



